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D C B A Questions / o Uly ed
6x10%8kg 6x1026kg 6x10%%kg 6x10%kg ULt 1
Mass of the Earth is:
wh gh win - =@E)SASH| 2
Potential energy (P.E.) =
A:Fl ax% le% lei B=__ JW:CUJ’G'Z:L}/”L’ 3
= According to Pascal's law, F =
140°F 133°F 122°F 100°F ‘ez 50°C| 4
50°C is equal to:
98.6°C 37°C 37°F 25°C SRR 5
PPN Normal human body temperature is:
£ oA 2 [ A o ‘e SYShenr| 6
Copper Iron Gold ¢ W FiRY 'Eb}?ouductor of heat is:
> = ) . ,f A
J:Jﬁ'dtoj ("'" ket AR f‘ 3 -c.tbtf(.ﬁl”aJii‘(?P; 7
~le 73 . -
Level of a liquid Volume Area Mass A measuring cylinder is used to measure:
e K Jr o Ceyly | 8
Second Meter Mole Newton Which is a derived unit?
r r P :Jn&;&/ Lo b Jak -fﬁ{d}’({{ﬂb}f:@,fbﬁ 9
~10ms 10ms 0 Ims A ball thrown vertically upward, its velocity at the
highest point is:
mv? v m_zv ﬁ ‘e sls () u’;,’d:&d/b: 10
r d r & Centripetal force (E.) is equal to:
0.866 0.707 0.6 0.5 edd cos60°| 11
Value of Cos60° is:
. &
w =0 IF =0 Tm=0 Tr=0 b AHIEASE) 12

The first condition of equilibrium is:
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Write short answers to any FIVE parts. -é&{-li/‘.?éoii !

Define mechanics. -Z_( - /U/ (1)
Why do we need to measure extremely small intervals of time? fe (}/u.v'/ u/’/d/ @qu,v,d*’ dl/'&._):u" (ii)
Express these numbers in scientific notation: (a) 0.0000548s  (b) 6400000m sff B J' :’u@d’bf et (i)
Differentiate between distance and displacement. -_é 5 I,u/u:f ./’-J‘J Slel  (iv)

~E P -+r/J‘9,;Jﬂlooaﬁéxz 31 SO

A sprinter completes its 100 meter race in 12s. Find its average speed.

Define force and write its SI unit. -éu)’ SIS U:lé - /.’.JJ/} (vi)
When a gun is fired, it recoils. Why? sl -ad\f@’fé’,/Ldladeu’yJ > (vii)
What is friction? *’c..lfu’; (viii)
Write short answers to any FIVE parts. -J@LV/"Z—AI lét:,(jf

°¢.J‘unyu/éJrz:ux/,iuyb_f.u’dy/ G)

What is the relation between law of gravitation and Newton's third law of motion?

Write two uses of artificial satellites. -gf:/ e L!Wl;:éu:’,tﬁf’f 9~ (D
Give the reason why gravitational force is very weak? -éug.,»&.m/éw}d"’”‘ d)’/( (iii)
Write two uses of wind energy. -éf//i«ﬂb"iuéd Hrs o (i)
What is meant by the efficiency of a system? “L;f/lfc_ u’" JJ J(’/ J( ()]
Differentiate between stable and unstable equilibrium. -“é u.l;.u/uf( /d:.( i{.g(.l)/{u y ,g,(y (vi)

b S EASE S e UL 2 SEASET (i)

Why there is a need of second condition of equilibrium/if a body satisfies the first condition of equilibrium?

Write two disadvantages of fossil fuels. : -é/ futl.u‘»d:/y’ J’ £ (viii)
Write short answers to any FIVE parts. _é'.:,wf’[_,l? létc_.(j:(
Give the name of fourth state of matter and define it. S /"JJ l/;IJ(WJb&Ju& 6
What is a barometer? - fe Ure (i)
State Hook's law. TN _SElyIbE g (i)
Differentiate between heat and temperature. C S ;; -'ﬁg J)J:Z'lgi}lﬁl:—/l] (iv)
Define evaporation. l ‘ , 2 ,.‘:&G -3 /7(}/‘-/?/{.{1 W)
What causes a glider to remain in air? “c‘,tfvy{ 4, Lk (vi)
Define transfer of heat. & .4_'}‘.‘.\; ;w‘]Qb‘El (vii)
Write the use of convection currents. _é//;dvﬁ(u"‘ /uig:f (viii)

_ui A 09 Ly _E el e trne (S pigd 4aa
Part - 11, Attempt any TWO questions. Each question carries 09 marks.

S=Vit+ %at2 o S P ISPt St L7 (N

Draw speed-time graph for the motion of a body. Using this graph derive second equaiton of

motion: S=Vit+ ; at?

e e SIS AL L Ve 3ms™ e L R stem SFEL K 05 (O)

How much centripetal force is requlred to make a body of mass 0.5kg to move in a circle of radius
50cm with a speed of 3ms™

Define kinetic energy and derive its equation. -é: M...A:VJJ U:li - /'U/ & /MQG( ()
-5 s _f) euua,erJZ SON -« 16cm W3NS EAL RS )

The steering of a car has a radius 16cm Find the torque produced by a couple of 50N.

Sl SR PR S R F (N

What is thermometer? Also write the characteristics of liquid used in thermometer.
_é(}v//uu,f c.u'u’d/2ON dbi/dl -<10mm klmfd/gf -c_Vd//dUWu’J (v)

The head of a pin is a square of a side 10mm. Find the pressure on it due to a force of 20N.
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A
1

D C B A Questions / o Uiy JP/
5 ; 6 3 PREN T4
The number of base units in SI is:
i &
m?s ms ™! ms”? 1S ‘L“jz S Kf)/g’ .
Which is SI unit of acceleration?
e ey s i SIS S I
Distance Displacement Velocity Speed A change in position is called: ’
s J ot Ja? e SIATKE| 4
T ® -
Velocity Mass Net force Force Inertia depends upon:
£G =0 EN =0 Tr=0 SF=0 b PSmSEASEY s
Second condition of equilibrium is:
2 . ] 8 5 7 82 474
8000ms™! 800ms™! 8ms~! a ' -%—&{JA—/TJ’/J‘.‘J t{%r‘& L 'A;: 6
Zero The orbital’speed of a low orbit satellite is:
GaSHEw | G gLy G e O Gyt oldnG| 7
i h b ) 3
Elastic potential | Mechanical | potentia| energy | Kinetic energy Energy stored in the stretched bow is called: '
energy energy "
.;"{Ju:/ &;’JUJ}..G' é{d/é/u ;&:;’ L3t ‘e e -».'.'a’)l/‘bz./.’LfLJbJT 8
‘
SPCS;ZE the | Speed of electron| Speed of light Speed of sound |In Einstein's mass energy equation "c" is:
Nm™! Nm? Nm™2 N ) i i Bl K&i 9
SI unit of stress is:
el f | ol | admlugdl | =yl Fy ; :-G‘Clod/r}"u"%&}/é-u’( 10
Principle of . Archimed® ¥ | frooneat: - ; b "
floatation Hook's law il ams% Deiij,t,y__ of a substance can be calculated by:
i NN ! v 7 { ("’ ‘." K .
- " Tl ! 1 {j, e u‘”(wgzufz:fu:{u:pécww{ dbl 11
p= 2 pr=se B= T =33 The ceefficients of linear and volume expansion
haverelation:
& ar, 20, & 4 - 3,
O o s DR ‘e YA SIS 2P | 12
Absorption Convection Conduction Radiation In solids, heat is transferred by:

14-1X122-75000




v

10

10

10

3+1
05

242
05

34

05

pe— e : ﬁ’ulz .

. 48 4F & orasen,
(Part-1  Jjlaza)  [FBD42-22-
Write short answers to any FIVE parts. ' -é@&&/‘.?éilz lé}c:,(j/
-‘c.zvf}{Lﬁu/Jgﬁii:j g&’ﬁfdﬁfg(fégfv lfc’:l»:.df Q)

Write any two factors on which accuracy in measuring a physical quantity depends.

Differentiate between positive and negative acceleration. -a’f J /u.‘.' ﬁ/"‘"(lﬁ'g;léj_;’ (ii)
Define derived units. Give names of any two derived units. -’&Vrtﬁui ,:g’j}L»:__Jf -5‘.'.: _.gj/-"(,(u"' QS}L (iii)
State Newton's first law of motion. ) -55;( LI %KJ‘Y{J:& (iv)
Define least count of a vernier callipers. -é - /;"J LWL ﬁ.;ﬂ W)
Define uniform velocity. ,5‘5_,&] /‘.’.Jo" Usps2y  (vi)
Differentiate between kinematics and dynamics. _.'é uyﬁ/'u.‘.'gf(tflb;lu’@f ¥ (vii)
Define momentum. Write its SI unit. -2_6&{ SI 61 -”é:q/.’.d/(b%’ (viii)
Write short answers to any FIVE parts. <& :Ab”/”érl'].fé&c.(jf
What is meant by center of mass and center of gravity? ?gf'.)l/l[:_, & ;j/i}'”/.“};fu WS ()
What is meant by trigonometric ratios? ' ?%)yg:.ufr{fﬁf ry (ii)
Differentiate between torque and couple. -é:( 5 ’}J/.‘J:J::”JL‘ (iii)
What is meant by geostationary orbit? ?4‘_,yg(.¢4176 /‘f“:f @iv)
Differentiate between artificial satellite and fiatural satellite. ,g_f L‘ O A oA 1 (31,51:'...*/’ e (v)
What is meant by field force? ?g_)!/[;’/cu’/}ﬂ:; (vi)
Define potential energy and describe its two types. ,éugrul;)JJ U;fé’f; quJ/‘J"'% (vii)
Define efficiency and power. -é&.@i&)&u'u'?& I (viii)
Write short answers to any FIVE parts. ,é'.-,w/“?&lz lé&ctjf
What is meant by pressure? Write its SI unit. -é <YSI B! ?‘L)J/gc. ﬂ{ i)
Define Pascal's law. : _"é - /"‘J UIEL J{‘ L)
Differentiate between ships and submarines. = T -éf uyd/u:q );47/:'1’({2()7- (iii)
What is the internal energy of a body? . R * Yc‘-;l/g:_,&jl‘j}'!&ﬂ,g (iv)
Change 300K on Kelvin scale into Celsius scale qf.-t_empe‘mure,’ ° _g§ J_ A?ufd.'.‘c u‘é'/!';(/;;‘b/ 300K {&C u).:’/ W)
Why are metals good conductors of heat? " 3 .o 4 Ln’u:..f/' }C‘Jélé.w!])? (vi)
What is meant by convection current? S ‘-'g.)'/l;fc..‘f'/uf{f (vii)
What is green house effect? S tw E-(&?LIJ e/ S (viii)

,u_{/ 09 ZJivs _gn/;ag’:?éomrucéf (pd ) daan
Part - 11, Attempt any TWO questions. Each question carries 09 marks.
Prove that: ~ S=Vit +%at2 $ = Vit +%at2 et (L)
QJﬁ@J}/’JWiJ::ﬁ/:’J‘);Q.LLUfaé:‘J 3ms™! uf;fbécﬁiu 50cm f()‘d:u’tr’/;(O.S (‘.‘)
How much centripetal force is required to make a body of mass 0.5kg to move in a circle of radius
50cm with a speed of 3ms!.
Explain two conditions of equilibrium. ‘éy&;JMVuij;Jﬁ;’d:gl'(Jl)
- P Pt BT E 105 FS ek 16mY, i 70kg g fi ()

Calculate the power of a pump which can lift 70kg of water through a vertical height of 16m in

10s. Also find power in horse power.
Vﬁ;/?)}@)u{jfd_/r/‘!h"j'ﬁ)‘urfﬁf; ,:édgdﬂl(uﬁ;‘ijl ()]
State Archimedes principle. How it is helpful to find the density of an object?

?&meﬂ}’w&iéégif&g - 20°C £ e QL 2.5 wmrteiidl (L)

A container has 2.5 liters of water at 20°C. How much heat is required to boil the water?
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